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Inspector Clue
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Success Criteria

Aim
• I can divide using a formal written method and interpret remainders 

according to the context. 

• I can use known multiplication facts to complete calculations.

• I understand why place value is important whilst performing written 
calculations.

• I can use a written method to solve a calculation.

• I can divide four-digit numbers by a two-digit number.

• I can round up or down depending on the context.
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Use the numbers adjacent (including diagonally) to make 18 using 
addition, subtraction, multiplication, division, orders and brackets. 

Eighteen

5 2 3 10

4 5 2 8

3 3 7 6

9 4 8 2

https://www.regentstudies.com


There are 2939 vials of invisible ink. A box holds a maximum of 11 vials. 
How many boxes are needed?

Searching for Clues (1)

Today, we will
be learning about the
written method, short 

division. 
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First, we need to read the question and highlight any key words.

Searching for Clues (1)

There are 2939 vials of 
invisible ink. A box 

holds a maximum of 11 
vials. How many boxes 

are needed?

There are 2939 vials of 
invisible ink. A box 

holds a maximum of 11
vials. How many boxes 

are needed?

The question is asking 
us to find out how 

many boxes are needed 
by sharing the vials 

between the boxes, with 
a maximum of 11 in 

each box. Therefore a 
division calculation is 

needed.

Short division is
based on the idea of 

distributing the division 
across a partitioned                    

number, e.g. 
distributing the division 
of 11 across the addition 
of two thousands, nine 
hundreds, three tens 
and seven ones in the 

number 2939.

The number 
being divided is 
known as the 

dividend.

The number by 
which another 
number is to be 

divided is known as 
the divisor.

1 1 2               9 3 9
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There are 2939 vials of invisible ink. A box holds a maximum of 11 vials. 
How many boxes are needed?

Searching for Clues (1)

First we divide
2 (thousands) by 11. 

This gives a result of 0 
with a remainder of 2. 

The remainder
2 (thousands) is 

exchanged for
20 hundreds and 
regrouped into the 
hundreds column. 

1 1 2               9 3 9

This is shown by a 
small 2 in front of the 
existing 9 hundreds to 
make 29 hundreds. 

2 6
2 7

7
7

Next, we divide 29 
(hundreds) by 11. This 

gives a result of
2 (hundreds) 

remainder 7. The 
remainder 7 (hundreds) 
is exchanged for 70 tens 
and regrouped into the 

tens column. 

This is shown by a 
small 7 in front of the 
existing 3 tens to make 

73 tens. The 2 is 
written in the hundreds 
position of the answer 

above the line.

Next, we divide
73 (tens) by 11. This 
gives a result of 6 

(tens) remainder 7. The 
remainder 7 (tens) is 
exchanged for 70 ones 
and regrouped into the 

ones column. 

This is shown by a 
small 7 in front of the 
existing 7 ones to make 
79 ones. 6 is written in 
the tens position of the 
answer above the line. 

After, we divide
79 (ones) by 11. This 

gives a result of
7 (ones) remainder 2. 
The 7 is written in the 
ones position of the 

answer above the line. 

So 2939 ÷ 11 = 267 r2

However, all the vials 
need to be in a box so 
the remaining two are 
in an additional box 

even though the box is 
not full. Therefore 268 

boxes are needed.

How could we check our 
answer?

r2
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Searching for Clues (1)

The new spy kit equipment has been 
ordered! Each spy kit must contain 12 
items. How many full kits can be made 

from 5290 items?

Let’s have a go at a different problem involving four-digit numbers.

First, we need to read the question and 
highlight any key words. 

The new spy kit equipment has been 
ordered! Each spy kit must contain 12
items. How many full kits can be made 

from 5290 items?

The question is asking us to find out how 
many full kits containing 12 items can be 

made from 5290 items. Therefore a 
division calculation is needed.

Short division is based on the idea of 
distributing the division across a 

partitioned number, e.g. distributing the 
division of 12 across the addition of five 

thousands, two hundreds and nine tens in 
the number 5290.

1 2 5               2 9 0

The number being 
divided is known as 

the dividend.

The number by which 
another number is to 

be divided is known as 
the divisor.
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Searching for Clues (1)

First we divide 5 (thousands) by 12.
This gives a result of 0 with a remainder 
of 5. The remainder 5 (thousands) is 

exchanged for 50 hundreds and regrouped 
into the hundreds column. 

The new spy kit equipment has been ordered! Each spy kit must contain
12 items. How many full kits can be made from 5290 items?

1 2 5               2 9 0

4 4
5 4

0
1

r10

This is shown by a small 5 in front of the 
existing 2 hundreds to make 52 hundreds. 

Next, we divide 52 (hundreds) by 12.
This gives a result of 4 (hundreds) 

remainder 4. The remainder 4 (hundreds) 
is exchanged for 40 tens and regrouped 

into the tens column.

This is shown by a small 4 in front of the 
existing 9 tens to make 49 tens. The 4 is 
written in the hundreds position of the 

answer above the line. 

Next we divide 49 (tens) by 12. This gives 
a result of 4 remainder 1. The 4 is written 
in the tens position of the answer above 

the line. The remainder 1 (ten) is 
exchanged for 10 ones and regrouped into 

the ones column.

This is shown by a small 1 in front of the 
existing 0 ones to make 10 ones.

Next, we divide 10 (ones) by 12.
This cannot be done so there are ten 

remaining. A zero is placed in the ones 
answer section as well as remainder 10. 

So 5290 ÷ 12 = 440 r10.

Because the question is only asking how 
many full kits are made, we do not need 

to consider the remainder and round 
down. Therefore 440 full spy kits can

be made.

How could we check our answer?
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Searching for Clues (2)
Have a go at solving this problem. If you have a remainder,
remember to round up or down depending on the context.

A school has £1294 to 
spend on a school 

excursion. Tickets to a spy 
museum cost £12 per 

child. Teachers are free 
when accompanying 
children. How many 

children can the school 
afford to send to the 

museum?
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Searching for Clues (2)
Have a go at solving this problem. If you have a remainder, remember to 

round up or down depending on the context.

107 children and 15 adults 
are going to the spy 

museum. The minibus 
holds 20 people. How 

many journeys must the 
minibus do to take all of 

the people to the 
museum?

The minibus has
to do seven journeys. On 
one of the journeys, the 

minibus will not
be full.
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Problem Solver
Use your marvellous maths skills to complete these activity sheets:
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Problem Creator
Create your own division problem for a partner to solve. 

Remember, you
will need to know the 
answer to say whether 
your partner’s answer

is correct.
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Success Criteria

Aim
• I can divide using a formal written method and interpret remainders 

according to the context. 

• I can use known multiplication facts to complete calculations.

• I understand why place value is important whilst performing written 
calculations.

• I can use a written method to solve a calculation.

• I can divide four-digit numbers by a two-digit number.

• I can round up or down depending on the context.

https://www.regentstudies.com


https://www.regentstudies.com

